

THE CONGRUENCE ON Π^* -REGULAR SEMIGROUPS

XIAOQIANG LUO

Abstract: Let ρ be a congruence on a Π^* -regular semigroup S . Congruence pair $[\rho_T, \rho^T]$, $[\rho_K, \rho^K]$ is constructed by trace and kerner of S . To show properties of congruence on Π^* -regular semigroups using congruence pair: thereby some congruence relation are attained.

1. Introduction

The study of the congruence on a semigroup was begun in the 50s. Especially, Howei had given a detailed description of the congruence using the Rees structure theorem. He gained many important results by defining two equivalences ε_1 and ρ_1 . At the same time, many researcher, such as Gluskin, Tamura, Preston, Lallement, Kapp, Schneider, Francis Prestjin and Trotter P.G, also take part in it and get many new results. (see[1-8])

In this paper, using the trace class and kerner class, we describe a classification of the congruence on Π^* -regular semigroups(see[9]) and discussed the relation among the largest congruence, the smallest congruence and the lattice of congruence on kerner class and trace class.

2. Preliminaries

In this section, we gives some basic concepts on the congruence on Π^* -regular semigroups.

Definition 1 Let ρ be a congruence on a Π^* -regular semigroup S , $E(S)$ is the set of all idempotents of S . $tr\rho$ is called the tace of ρ , if

$$tr\rho = \{((e, f), (g, h)) \in E(S) \times E(S), (e, f) \rho (g, h)\}.$$

Definiton 2 Let ρ be a congruence on a Π^* -regular semigroup S . $\ker \rho$ is called the kernel of ρ , if

$$\ker \rho = \bigcup_{(e,f) \in E(S)} \{(e,f)\rho\}, \text{ where } (e,f)\rho \text{ is equivalence class of all idempotents of } S.$$

S .

Suppose ρ is a congruence on a Π^* -regular semigroup S , then trace class $[\rho_T, \rho^T]$ and kerner class $[\rho_K, \rho^K]$ are existed. Moreover, ρ is decided by $tr \rho$ and $\ker \rho$ (ρ_T is the least congruence on S with trace τ , ρ^T is the largest congruence on S with trace τ , ρ^K is the largest congruence on S with kerner K , ρ_K is the least congruence on S with kerner K). K is kerner relation, T is trace relation.

Remark The marks we don't illustrate in this paper please see reference ([2],[3],[4]).

3. Main Results

Theorem 1 Let ρ be a congruence on a Π^* -regular semigroup S . Then $\rho^T \cap \rho^K = \rho$.

Proof. Since $\rho \subseteq \rho^T, \rho \subseteq \rho^K$ (see[5]). Then $\ker \rho \subseteq \ker \rho^T, tr \rho \subseteq tr \rho^T$

On the other hand, $tr \rho \subseteq tr \rho^T, \ker \rho \subseteq \ker \rho^T, tr(\rho^T \cap \rho^K) = tr \rho^T \cap tr \rho^K = tr \rho$

$\ker(\rho^T \cap \rho^K) = \ker \rho^T \cap \ker \rho^K = \ker \rho^T \cap K = K$. Hence, it follows that

$$\rho^T \cap \rho^K = \rho.$$

Theorem 2 Let ρ be a congruence on a Π^* -regular semigroup S . Then $\rho = \rho_T \vee \rho_K$.

Proof. Let $\sigma = \rho_T \vee \rho_K$. Since $\rho_T \subseteq \rho, \rho_K \subseteq K$, Then $\sigma = \rho_T \vee \rho_K \subseteq \rho$, and so $\rho_T \subseteq \sigma \subseteq \rho, \rho_K \subseteq \sigma \subseteq \rho$. Such that, we get $tr \sigma \subseteq tr \rho, \ker \sigma \subseteq \ker \rho$. By the definition of σ_T, σ_K . we have $\sigma_T \subseteq \rho_T, \sigma_K \subseteq \rho_K$. On the other hand, since $(\rho_T)_T = \rho_T, (\rho_K)_K = \rho_K$, then $\rho_T \subseteq \sigma_T \subseteq \rho_T, \rho_K \subseteq \sigma_K \subseteq \rho_K$, and so $\sigma_T = \rho_T$. We immediately have $\rho = \sigma$. Hence $\rho = \rho_T \vee \rho_K$.

Theorem 3 Let ρ be a congruence on a Π^* -regular semigroup S . Then

$$(\rho_T)_K \vee (\rho_K)_T = \rho_T \wedge \rho_K .$$

Proof. Since $\rho_T \subseteq \rho$, then $(\rho_T)_K \subseteq \rho_K$, $(\rho_T)_K \subseteq \rho_T$, and so $(\rho_T)_K \subseteq \rho_T \wedge \rho_K$, $(\rho_K)_T \subseteq \rho_T$. Then we have $(\rho_K)_T \vee (\rho_T)_K \subseteq \rho_T \wedge \rho_K$. Let $\sigma = (\rho_K)_T \vee (\rho_T)_K$, $\eta = \rho_T \wedge \rho_K$, then $\sigma \subseteq \eta$. By $\eta \subseteq \rho_T$, $(\rho_T)_K \subseteq \sigma$, we have $(\rho_T)_K \subseteq \sigma \subseteq \eta \subseteq \rho_T$. But we also have $((\rho_T)_K)_K = (\rho_T)_K$, and so $(\rho_T)_K \subseteq \sigma_K \subseteq \eta_K \subseteq (\rho_T)_K$. That is $\sigma_K = \eta_K$. On the other hand, since $\eta \subseteq \rho_K$, $(\rho_K)_T \subseteq \sigma$, Then $(\rho_K)_T \subseteq \sigma \subseteq \eta \subseteq \rho_K$. By $((\rho_K)_T)_T = (\rho_K)_T$, we immediately $(\rho_K)_T \subseteq \sigma_T \subseteq \eta_T \subseteq (\rho_K)_T$. So This prove that $\ker \sigma_T = \ker \eta_K$, $tr \sigma_T = tr \eta_T$. But for $\ker \sigma_T = \ker \sigma$, $\ker \eta_K = \ker \eta$, $tr \sigma_T = tr \sigma$, $tr \eta_T = tr \eta$, we have $\ker \sigma = \ker \eta$, $tr \sigma = tr \eta$, then $\sigma = \eta$. Hence $(\rho_T)_K \vee (\rho_K)_T = \rho_T \wedge \rho_K$.

Theorem 4 Let ρ be a congruence on a Π^* -regular semigroups S . Then $\sigma \eta = \eta \sigma$ for some congruence $\sigma, \eta \in [\rho_T, \rho^T]$.

Proof. Suppose that congruence $\sigma, \eta \in [\varepsilon, \varepsilon^T]$ such that $\sigma, \eta \subseteq \varepsilon^T$, where ε is a equal relation on S . Let H^0 is H -class with 0 . Since $\varepsilon^T = H^0 \subseteq H^*$, then we have $\sigma \subseteq H^* \subseteq R^*$, $\eta \subseteq H^* \subseteq L^*$. Suppose that $(a, b), (c, d) \in S$, such that $(a, b)(\sigma \eta)(c, d)$. Then there exist $(s, t) \in S$ such that $(a, b)\sigma(s, t), (s, t)\eta(c, d)$, and so $(a, b)R^*(s, t), (s, t)L^*(c, d)$. Then it follows from the definition of Green's relation that there exist $(u, v), (i, j), (x, y), (l, r)$ such that (see[10])

$$(s, t) = (a, b)(u, v), (a, b) = (c, d)(i, j), (c, d) = (x, y)(c, d), (l, r)(s, t) = (c, d),$$

And so $(l, r)(a, b) = (l, r)(s, t)(i, j) = (c, d)(i, j)$, By $(s, t)\eta(c, d)$, $(a, b)\sigma(s, t)$, we have $(s, t)(i, j)\eta(c, d)(i, j), (c, d)(i, j)\sigma(c, d)$, and so $(a, b)(\eta \sigma)(c, d)$.

Hence $\sigma\eta \subseteq \eta\sigma$; Similarly, we have $\eta\sigma \subseteq \sigma\eta$. It is clear that $\sigma\eta = \eta\sigma$.

In the following, we prove that $\sigma\eta = \eta\sigma$ holds for all $\sigma, \eta \subseteq [\rho_T, \rho^T]$. Since the interval $[\rho_T, \rho^T]$ is isomorphic to the interval $[\varepsilon, \varepsilon^T]$ of the lattice of congruence on S/ρ_T and $\sigma/\rho_T, \eta/\rho_T \in [\varepsilon, \varepsilon^T]$. Then we have

$$(\sigma/\rho_T)(\eta/\rho_T) = (\eta/\rho_T)(\sigma/\rho_T).$$

Suppose that $(a, b), (c, d) \in S$, such that $(a, b)(\sigma\eta)(c, d)$. Then there exist $(s, t) \in S$ such that $(a, b)\sigma(s, t), (s, t)\eta(c, d)$, by $\rho_T \subseteq \sigma, \rho_T \subseteq \eta$, we have

$$((a, b)\rho_T)\sigma/\rho_T((s, t)\rho_T), ((s, t)\rho_T)\eta/\rho_T((c, d)\rho_T).$$

From above we know there exist $d \in S$ such that

$$((a, b)\rho_T)\eta/\rho_T((h, g)\rho_T), ((h, g)\rho_T)\sigma/\rho_T((c, d)\rho_T),$$

that is $(a, b)\eta(h, g), (h, g)\sigma(c, d)$, and so $(a, b)(\eta\sigma)(c, d)$. Hence $\sigma\eta \subseteq \eta\sigma$. Similarly, we have $\eta\sigma \subseteq \sigma\eta$. Hence, it follows that $\sigma\eta = \eta\sigma$.

Theorem 5 Let ρ be a congruence on a Π^* -regular semigroup S . Then the interval $[\rho_T, \rho^T]$ is a modular lattice.

Proof. Let σ, η, λ be for some congruence on the interval $[\rho_T, \rho^T]$, and $\sigma \subseteq \lambda$. Since $(\sigma \vee \eta) \wedge \lambda \supseteq \sigma \vee (\eta \wedge \lambda)$ has been known, in here we only show $(\sigma \vee \eta) \wedge \lambda \subseteq \sigma \vee (\eta \wedge \lambda)$. At first, $[\rho_T, \rho^T]$ is sublattice, for some $\sigma, \eta, \lambda \in [\rho_T, \rho^T]$, this has $\sigma \vee \eta \in [\rho_T, \rho^T], \sigma \vee (\eta \wedge \lambda) \in [\rho_T, \rho^T]$, second, by theorem 4 $\sigma\eta = \eta\sigma$, so $\sigma \vee \eta = \sigma\eta$; similarly $\sigma(\eta \wedge \lambda) = (\eta \wedge \lambda)\sigma$, hence, $\sigma \vee (\eta \vee \lambda) = \sigma(\eta \wedge \lambda)$. Now we only prove $\sigma\eta \wedge \lambda \subseteq \sigma(\eta \wedge \lambda)$. Suppose that $(a, b), (c, d) \in S, (a, b)(\sigma\eta \wedge \lambda)(c, d)$, thus $(a, b)(\sigma\eta)(c, d)$ and $(a, b)\lambda(c, d)$,

for $(s, t) \in S$, such that $(a, b)\sigma(s, t), (s, t)\eta(c, d)$. Because $\sigma \subseteq \lambda$, we have $(a, b)(\sigma(\eta \wedge \eta))(c, d)$, so $(\sigma \vee \eta) \wedge \lambda \subseteq \sigma \vee (\eta \wedge \lambda)$, hence the interval $[\rho_T, \rho^T]$ is a modular lattice.

REFERENCES

- [1] Howie J. M. An introduction to semigroup theory[M]. London : Academic Press, 1976.
- [2] Clifford A. H. Matrix representations of completely simple semigroups Amer. J. Math, 1942, 64: 327-342.
- [3] Kapp K. Completely 0-simple semigroups[M]. New York: W. A. Benjamin, 1969.
- [4] Tamura T. Decompositions of completely simple semigroups[J]. Osaka Math. J, 1960, 12: 269-275.
- [5] Pastijn F., Petrich M. Congruences on regular semigroups[J]. Trans. Amer. Math. Soc, 1986, 295: 607-633.
- [6] Pastijn F., Trotter P. G. Lattices of completely regular semigroups[J]. Varieties. Pacific J. Math, 1985, 119.
- [7] Mario Petrich. The kernel relation for a completely regular semigroup [J]. J. Algebra, 1995, 172: 90-112.
- [8] Mario Petrich. The kernel relation for regular semigroups[J]. Acta Sci Math, 2004, 70: 525-544.
- [9] Xiaoqiang LUO. Π^* -Regular Semigroups. Bulletin of Mathematical Science & Applications (India), 1(1), (2012), 63-70.
- [10] LUO Xiaoqiang. The Subclasses of Characterization on Π^* -Regular Semigroups, Progress in Applied Mathematics (Canadian), 5(2), 2013, 1-5.

DEPARTMENT OF MATHEMATICS SICHUAN UNIVERSITY OF ARTS AND SCIENCE, DAZHOU, SICHUAN, 635000, CHINA